Model 285XBP

Forklift-Karrier

nt

Serial Number 414647 to Curre

morsedrum.com

M3551-P

OR
MTE3551-P

Page 1

5 September 2024

Mfg. Co., Inc.

Copyright —Morse



_
%l{:?"f.kr'z

ii

ug

L1 B
ESTABLISHED 1923

morsedrum.com

Model 285XBP

Forklift-Karrier
Serial Number 414647 to Current

ITEM | QTY. PART NUMBER | DESCRIPTION
5 2 18-P BEARING, 1" ID X 2-1/2
6 2 5062-P BEARING, 1-1/4" ID X 2-1/2"
21 2 4770-P LATCH, SPRING, 305-CAGE, A-BP
22 4 1517-P SCREW, 1/4-20 X 5/8 PAN HEAD
23 6 1518-P NUT, 1/4-20 NYLON LOCK
24 1 6025-P POWER LINK WELD, LEFT XBP
25 1 6024-P POWER LINK WELD, A-BP
26 2 2500-P DRAG LINK WELD, A-BP
27 2 29-P SPACER, SPUR GEAR .15 AL
28 2 64-P ROLL PIN, 3/16 X 1-1/4
29 2 5522K-P CYLINDER, 2 X 10 DBL ACT, KFP
30 4 3610-P HYD FIT, EL, SAE 6, FLARE
31 2 2506-P PIN WELD, CYL, 285A-BP
32 2 15-P COLLAR, 3/4" ID
33 2 5585-P PIN, GROOVE, 3/4 X2.61C
34 2 5330-P SNAP RING, EXT, HD, .078, 3/4"
35 1 5081-P SADDLE ASM, XBP, 3PC, 2500LB
36 4 5061-P COLLAR, 1-1/4" ID
37 1 M3551-P HYD POWER PACK, 12V DC, BP
MTE3551-P HYD POWER PACK, A-BP, 12V MTE
38 3 1657-P HHCS, 3/8-16 X 3/4 GR2
39 4 1166-P WASHER, 3/8 USS 1" OD, ZINC
40 5 1169-P NUT, 3/8-16 REV HEX LOCK
41 2 2467A-P HYD HOSE ASM, 40", A-BP, XBP
42 1 6689-P PENDANT ASM, WIRED, 15'A-BP
43 1 5087-P TOP PIECE, BATTERY BOX, 285XBP
44 1 388-P BATTERY, 12V DC
45 1 4914-P HARNESS, PUMP CABLE, 18/24
46 1 5838-P CORD GRIP, M20, .24-.47 CORD
47 1 6186L-P LINKAGE GUARD, LEFT
48 7 5212-P GROMMET, 1-1/2 OD, RUBBER
49 4 16-P COLLAR, 1" ID
50 4 82-P HHCS, 3/8-16 X 2-1/4 GR2
51 2 1474-P WASHER, 3/8 SPLIT LOCK
52 2 3757-P HYD FIT, FEMALE EL, SAE 9/16
53 1 4913-P HARNESS, BATTERY CABLE, 28/20
54 1 391-P CHARGER 12V 50HZ 60HZ 115V
55 1 6186R-P LINKAGE GUARD, RIGHT
56 1 4079-P HHCS, M8 X 60 MM CL8.8, MM
57 1 4081-P NUT, M8 ESNA, 8MM
58 1 2162-P CHAIN, 1/4" PROOF COIL, 4 FT
59 1 5713-P CARABINER, 7/16 OPENING, 286-1
60 1 3694-P HYD HOSE ASM, 35", BP, 290F
61 4 5042-P NUT, 6-32 NYLON LOCK, SS
62 4 5041-P PHMS, SLOTTED, 6-32 X 1, SS
63 2 1739-P WASHER 3/8 INTERNAL TOOTH LOCK
64 6 193-P SCREW, TEK, 12-14 X 3/4 3 PT
65 1 4820-P HANDLE, BATTERY CONNECT
66 1 4811W-P DOOR W/ HINGES, PUMP 285A-BP
67 2 3838-P HHCS, 1/4-20 X 2 GR2
68 2 5889-P HYD FIT, BRANCH TEE, SAE

Copyright - Morse Mfg. Co., Inc.

5 September 2024

Page 2




